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commandwindow

clear

el

close zall

syms t mit) egn sol(t)

Iwt is amount of water in tank,sc is the amount of solution tht leaves per minute
wt=1200

50=30

2This is the condition for the eguation,that is at initial time m is 1501k
cond=m(0)==150;

Zmin is input rate of salt to the system,mout is output rate of salt to the
Tzystem

min=50* (1+sin(t})

mout= (so/wt) *m

egqn=diff (m, t)==min- (mout}
sol (t)=dsolve (eqn,cond)
fprintf ('Therefore the differential equation for studying the dynamics of the amount of salt in the tank is %3 and the solution %3 \n',char (eqn),char (3ol (t))):

%27.5 hrs iz converted to min,multiplied by €0

t=0:0.5:(7.5%0)

M=subs (s0l,t):

plot (o, M)

title('Figure 1: Plot of Dynamic Response of amount of salt present in tank')
xlabel('Time (min) ")

ylabel ("imount of Salt in Tank(lk) ')

grid on

grid minor
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Command Window

Wt

1200

50 =

30

S0%*sin{t) + 50

mout (E) =

mit) /40

eqn(t) =

diff(m(t), t) == 50%szin(t) - m(t)/40 + 50

zol(c) =

fe 2000 - (2000%1601"~ (1/2) *cos(t + atan(1/40)))/1601 — (2881850%exp(-t/40)) /1601
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- commandwindow

1

A= clear

3 - clc

4 - close all

5 - syms t ¥V vy

6 — y=(50/0.05)+((50/1.0025) *sin(t) )+ {((50%0.05)/1.0025) ) *cos(t)-(802.49%exp (-0.05%¢))
T - ym=1000- (800%exp (-0.05%t})

g

9 - figure(2)

10 - hold a1l

11 - [Jfor t= 0:1:500

1z - if rem(c,2)==1

13 = V=szubs (v, t)

14 - else

15 — V=subks (ym, T)

16 — end

17 = plot(t,V,'-*zc'")

13 - v=double (V)

15 = - end

20

21 — title('Figure 2:Dyvnamic Model Of System')

A | = xlabel ("Time (min) "}

23 — vlakbel ('Eesponse (Litre) ')

24 — grid on

25 — grid minor

26

27 — column={ "t (min) ", "V(litre) '};

28 — Xlswrite('odevkesdata', [t(:),¥v(:)], "Verilex"', "B2");
28 — Xlswrite ('odevkesdata',column, 'Veriler','4Al'):
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